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− Ԧ𝑣

𝑙
ⅆ𝑡

න
ⅆ𝑦

𝑦
=
− Ԧ𝑣

𝑙
නⅆ𝑡

ln 𝑦 =
− Ԧ𝑣

𝑙
𝑡 + 𝑐1

𝑦 = ⅇ
− 𝑣 𝑡
𝑙

+𝑐1

𝑦 = 𝑐ⅇ
− 𝑣 𝑡
𝑙



Differential equations

ⅆ𝑦

ⅆ𝑡
=
𝑦2

9
− 2𝑦 + 9

𝑡 = 0 ⇒ 𝑦 𝑡 = 8



Differential equations

ⅆ𝑦

ⅆ𝑡
=
𝑦2

9
− 2𝑦 + 9

𝑡 = 0 ⇒ 𝑦 𝑡 = 8

ⅆ𝑦

ⅆ𝑡
=

𝑦

3
− 3

𝑦

3
− 3



Differential equations

ⅆ𝑦

ⅆ𝑡
=
𝑦2

9
− 2𝑦 + 9

𝑡 = 0 ⇒ 𝑦 𝑡 = 8

ⅆ𝑦

ⅆ𝑡
=

𝑦

3
− 3

𝑦

3
− 3

𝑢 =
𝑦

3
− 3

ⅆ𝑦

ⅆ𝑡
= 𝑢2



Differential equations

ⅆ𝑦

ⅆ𝑡
=
𝑦2

9
− 2𝑦 + 9

𝑡 = 0 ⇒ 𝑦 𝑡 = 8

ⅆ𝑦

ⅆ𝑡
=

𝑦

3
− 3

𝑦

3
− 3

𝑢 =
𝑦

3
− 3

ⅆ𝑦

𝑢2
= ⅆ𝑡



Differential equations

ⅆ𝑦

ⅆ𝑡
=
𝑦2

9
− 2𝑦 + 9

𝑡 = 0 ⇒ 𝑦 𝑡 = 8

ⅆ𝑦

ⅆ𝑡
=

𝑦

3
− 3

𝑦

3
− 3

𝑢 =
𝑦

3
− 3

න
ⅆ𝑦

𝑢2
= නⅆ𝑡



Differential equations

ⅆ𝑦

ⅆ𝑡
=
𝑦2

9
− 2𝑦 + 9

𝑡 = 0 ⇒ 𝑦 𝑡 = 8

ⅆ𝑦

ⅆ𝑡
=

𝑦

3
− 3

𝑦

3
− 3

𝑢 =
𝑦

3
− 3

න
ⅆ𝑦

𝑢2
= නⅆ𝑡

differentiate each side of the equation with respect to t:



Differential equations

ⅆ𝑦

ⅆ𝑡
=
𝑦2

9
− 2𝑦 + 9

𝑡 = 0 ⇒ 𝑦 𝑡 = 8

ⅆ𝑦

ⅆ𝑡
=

𝑦

3
− 3

𝑦

3
− 3

ⅆ𝑢

ⅆ𝑡
=
1

3

ⅆ𝑦

ⅆ𝑡

න
ⅆ𝑦

𝑢2
= නⅆ𝑡

differentiate each side of the equation with respect to t:

𝑢 =
𝑦

3
− 3



Differential equations

ⅆ𝑦

ⅆ𝑡
=
𝑦2

9
− 2𝑦 + 9

𝑡 = 0 ⇒ 𝑦 𝑡 = 8

ⅆ𝑦

ⅆ𝑡
=

𝑦

3
− 3

𝑦

3
− 3

ⅆ𝑢

ⅆ𝑡
=
1

3

ⅆ𝑦

ⅆ𝑡
⇒ ⅆ𝑦 = 3ⅆ𝑢

න
ⅆ𝑦

𝑢2
= නⅆ𝑡

differentiate each side of the equation with respect to t:

𝑢 =
𝑦

3
− 3



Differential equations

ⅆ𝑦

ⅆ𝑡
=
𝑦2

9
− 2𝑦 + 9

𝑡 = 0 ⇒ 𝑦 𝑡 = 8

ⅆ𝑦

ⅆ𝑡
=

𝑦

3
− 3

𝑦

3
− 3

ⅆ𝑢

ⅆ𝑡
=
1

3

ⅆ𝑦

ⅆ𝑡
⇒ ⅆ𝑦 = 3ⅆ𝑢

න
ⅆ𝑦

𝑢2
= නⅆ𝑡

differentiate each side of the equation with respect to t:

𝑢 =
𝑦

3
− 3

න
3ⅆ𝑢

𝑢2
= නⅆ𝑡



Differential equations

ⅆ𝑦

ⅆ𝑡
=
𝑦2

9
− 2𝑦 + 9

𝑡 = 0 ⇒ 𝑦 𝑡 = 8

ⅆ𝑦

ⅆ𝑡
=

𝑦

3
− 3

𝑦

3
− 3

න
ⅆ𝑦

𝑢2
= නⅆ𝑡

න
3ⅆ𝑢

𝑢2
= නⅆ𝑡

3න𝑢−2 ⅆ𝑢 = 𝑡 + 𝑐2 𝑢 =
𝑦

3
− 3



Differential equations

ⅆ𝑦

ⅆ𝑡
=
𝑦2

9
− 2𝑦 + 9

𝑡 = 0 ⇒ 𝑦 𝑡 = 8

ⅆ𝑦

ⅆ𝑡
=

𝑦

3
− 3

𝑦

3
− 3

න
ⅆ𝑦

𝑢2
= නⅆ𝑡

න
3ⅆ𝑢

𝑢2
= නⅆ𝑡

3𝑢−1

−1
+ 𝑐1 = 𝑡 + 𝑐2

𝑢 =
𝑦

3
− 3

3(
𝑦
3 − 3)−1

−1
= 𝑡 + 𝑐

3න𝑢−2 ⅆ𝑢 = 𝑡 + 𝑐2



Differential equations

ⅆ𝑦

ⅆ𝑡
=
𝑦2

9
− 2𝑦 + 9

𝑡 = 0 ⇒ 𝑦 𝑡 = 8

ⅆ𝑦

ⅆ𝑡
=

𝑦

3
− 3

𝑦

3
− 3

න
ⅆ𝑦

𝑢2
= නⅆ𝑡

න
3ⅆ𝑢

𝑢2
= නⅆ𝑡

3𝑢−1

−1
+ 𝑐1 = 𝑡 + 𝑐2

3(
𝑦
3 − 3)−1

−1
= 𝑡 + 𝑐

−3
𝑦
3
− 3

= 𝑡 + 𝑐3න𝑢−2 ⅆ𝑢 = 𝑡 + 𝑐2



Differential equations

ⅆ𝑦

ⅆ𝑡
=
𝑦2

9
− 2𝑦 + 9

𝑡 = 0 ⇒ 𝑦 𝑡 = 8

ⅆ𝑦

ⅆ𝑡
=

𝑦

3
− 3

𝑦

3
− 3

න
ⅆ𝑦

𝑢2
= නⅆ𝑡

න
3ⅆ𝑢

𝑢2
= නⅆ𝑡

3𝑢−1

−1
+ 𝑐1 = 𝑡 + 𝑐2

3(
𝑦
3 − 3)−1

−1
= 𝑡 + 𝑐

−3

𝑦 − 9
3

= 𝑡 + 𝑐

−9

𝑦 − 9
= 𝑡 + 𝑐

9 −
9

𝑡 + 𝑐
= 𝑦

3න𝑢−2 ⅆ𝑢 = 𝑡 + 𝑐2



Differential equations

ⅆ𝑦

ⅆ𝑡
=
𝑦2

9
− 2𝑦 + 9

𝑡 = 0 ⇒ 𝑦 𝑡 = 8

𝑦 𝑡 = 9 −
9

𝑡 + 𝑐



Differential equations

ⅆ𝑦

ⅆ𝑡
=
𝑦2

9
− 2𝑦 + 9

𝑡 = 0 ⇒ 𝑦 𝑡 = 8

𝑦 𝑡 = 9 −
9

𝑡 + 𝑐
8 = 9 −

9

0 + 𝑐

9

𝑐
= 9 − 8 ⇒ 𝑐 = 9



Differential equations

ⅆ𝑦

ⅆ𝑡
=
𝑦2

9
− 2𝑦 + 9

𝑡 = 0 ⇒ 𝑦 𝑡 = 8

𝑦 𝑡 = 9 −
9

𝑡 + 9



ⅆ𝑦

ⅆ𝑡
=
𝑦2

9
− 2𝑦 + 9



Differential equations

ⅆ𝑦

ⅆ𝑡
=
𝑦2

9
− 2𝑦 + 9

𝑡 = 0 ⇒ 𝑦 𝑡 = 8
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